
Subject: Re: HomeBudget example bug
Posted by unodgs on Tue, 20 Jan 2009 07:41:03 GMT
View Forum Message <> Reply to Message

Shire wrote on Mon, 19 January 2009 20:44[/code]
Also example does not use table indexes. This is not good.

TABLE_(CATEGORIES)
	INT 	(ID) PRIMARY_KEY
	INT_    (GR_ID) INDEX
...
TABLE_(MONEY)
	INT  (ID) PRIMARY_KEY
	INT_ (DT_ID) INDEX
	INT_ (CAT_ID) INDEX

Other small changes (russian translation, layout fix, and other) are in attach.

Thanks for the dates fixes! The reason indexes are not there is the size of the database. It's very
small and it grows slowly, so I never experienced performance problems. But of course this is
agood idea.
I will apply your fixes soon.
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